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Eight persons A, B, C, D, E, F, G, and H are sitting

in row. Some of them are facing north and others

are facing south. Not more than two person are

facing same direction are not sit together.

C faces south. A sits second to the left of C. Two

persons sit between A and B and both are facing

same direction. B sits second from one of the end. G

is facing north and E sits third to the right of G. H

is an immediate neighbour of E and faces north.

Not more than two people sit between H and D who

faces north. E faces north and B sits right of E. F

sits left of H. F and A faces opposite direction.

आठ व्यक्ति A, B, C, D, E, F, G, और H पंक्ति में बैठे
हैं। उनमें से कुछ का मुख उत्तर कीओर है और अन्य का
मुख दक्षिणकीओर है। एक ही ददशा कीओर उन्मुख दो
से अधिक व्यक्ति एक साथ नहीं बैठे हैं।
C का मुख दक्षिणकीओर है। A, C के बाएं से दसूरे
स्थान पर बैठा है। A और B के बीच दो व्यक्ति बैठे हैं
और दोनों का मुख समान ददशा कीओर है। B ककसी
एक छोर से दसूरे स्थान पर बैठा है। G का मखु उत्तर की
ओर हैऔर E, G के दायें से िीसरे स्थान पर बैठा है। H, 
E का ननकटिम पडोसी है और उसका मुख उत्तर कीओर
है। H और D के मध्य दो से अधिक व्यक्ति नहीं बैठे हैं, 
क्िसका मुख उत्तर कीओर है। E उत्तर कीओर उन्मुख है
और B, E के दायें बैठा है। F, H के बायें बैठा है। F और A 
विपरीि ददशा कीओर उन्मुख हैं।
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Eight persons A, B, C, D, E, F, G, and H are sitting

in row. Some of them are facing north and others

are facing south. Not more than two person are

facing same direction are not sit together.

C faces south. A sits second to the left of C. Two

persons sit between A and B and both are facing

same direction. B sits second from one of the end. G

is facing north and E sits third to the right of G. H

is an immediate neighbour of E and faces north.

Not more than two people sit between H and D who

faces north. E faces north and B sits right of E. F

sits left of H. F and A faces opposite direction.
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Who sits immediate left of H?

H के ठीक बायें कौन बैठा है?
a) A

b) D

c) E

d) G

e) None of these

Who sits immediate left of H?

H के ठीक बायें कौन बैठा है?
a) A

b) D

c) E

d) G

e) None of these

Who among the following sits at extreme ends of the row?

ननम्नलिखखि में से कौन पंक्ति के अंनिम छोर पर बैठा 
है?
a) F and C

b) E and G

c) C and G

d) D and F

e) None of these
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Howmanypersons arefacingSouth  direction?

ककिने व्यक्तियों का मुख दक्षिण ददशा की ओर है?
a) Three

b) Two

c) Four

d) More than Four

e) Four

If all the persons are sitting alphabetical order from right end of the row to left end of

therow, thenhowmanyremainsunchangedfromhisprevious position?

यदद सभी व्यक्ति पंक्ति के दायें छोर से पंक्ति के बायें छोर िक िणाानुक्रम में
बैठे हैं, िो ककिने व्यक्ति अपनी वपछिी क्स्थनि से अपररिनिाि रहिे हैं?
a) One

b) Two

c) Four

d) Three

e) None
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(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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In the given number 71832564395138, the position of first and second number are

interchanged, similarly the position of third and fourth number are interchanged

and so on till the end. Then, which of the following number will be third to the left

of the number which is Fifth from the right end of the row?

दी गई सखं्या 71832564395138 में पहिी और दसूरी सखं्या के स्थान को आपस में
बदि ददया िािा है, इसी प्रकार िीसरी और चौथी सखं्या के स्थान को आपस में बदि
ददया िािा है और इसी िरह अिं िक चििा रहिा है। िो, ननम्नलिखखि में से कौन सी
सखं्या उस सखं्या के बायें से िीसरी होगी िो पंक्ति के दायें छोर से पांचिीं है?

a) 3

b) 7

c) 9

d) 4

e) None of these
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Twelve people are sitting in two parallel rows, Row

1 and Row 2. Saran, Anu, Hema, Ramya, Swetha

and Sruthi are sitting in row 1and facing north

and Siva, Vignesh, Balaji, Rishi, Ruban and Sibi

are sitting in row 2 and facing south but not

necessarily in the same order. Two people sit

between Balaji and Ruban. Ruban is not an

immediate neighbour of Rishi. Siva does not sit at

extreme end of the row. Hema does not face

Vignesh and is not an immediate neighbour of

Ramya. Swetha sits third from the extreme end of

the row. Vignesh sits second to the right of the

person who sits opposite to Swetha. Two people sit

between Vignesh and Rishi. Saran and Anu is

immediate neighbour of Swetha. Rishi does not

face Saran. Balaji sits opposite to Ramya.

बारह िोग दो समानांिर पंक्तियों, पंक्ति 1 और पंक्ति
2 में बैठे हैं। सारण, अनु, हेमा, राम्या, श्िेिा और शु्रनि
पंक्ति 1 में उत्तर कीओर मुख करके बैठे हैं और लशि, 
विग्नेश, बािािी, ऋवि, रुबनऔर लसबी पंक्ति 2 में बैठे
हैं। और दक्षिणकीओर उन्मुख हैं िेककन िरूरी नहीं कक
इसी क्रम में हों। बािािी और रुबन के मध्य दो व्यक्ति
बैठे हैं। रुबनऋवि का ननकटिम पडोसी नहीं है. लशि
पंक्ति के अंनिम छोर पर नहीं बैठा है। हेमा का मुख
विग्नेश के सामने नहीं है और िह राम्या की ननकटिम
पडोसी नहीं है. श्िेिा पंक्ति के अंनिम छोर से िीसरे
स्थान पर बैठी है। विग्नेश उस व्यक्ति के दायें से दसूरे
स्थान पर बैठा है िो स्िेिा के विपरीि बैठा है। विग्नेश
औरऋवि के बीच दो व्यक्ति बैठे हैं। सरनऔर अनु, 
श्िेिा के ननकटिम पडोसी हैं। ऋवि का मुख सारण के
सामने नहीं है। बािािी राम्या के विपरीि बैठे हैं।
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Who sits second to the right of Swetha?

स्िेिा के दायें से दसूरे स्थान पर कौन बैठा है?
a) Hema

b) Sruthi

c) Saran

d) Ramya

e) None of these

How many persons sit between Rishi and Sibi?

ऋवि और लसबी के बीच ककिने व्यक्ति बठेै हैं?
a) One

b) Two

c) Three

d) Four

e) None of these

Who is second to the right of the person who sits 

opposite to Saran? सारण क विपरीि बैठे व्यक्ति के 
दायें से दसूरे स्थान पर कौन बैठा है?
a) Sibi

b) Vignesh

c) Balaji

d) Siva

e) Ruban
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Four of the five among the following are similar in such a way to form a

group, which one of the following does not belongs to the group?

ननम्नलिखखि में से पांच में से चार एक समूह बनाने के लिए समान हैं,
ननम्नलिखखि में से कौन समूह से संबंधिि नहीं है?
a) Sibi, Sruthi

b) Vignesh, Saran

c) Siva, Anu

d) Rishi, Hema

e) Ruban, Swetha

Which of the following is correct? ननम्न में से कौन सा सही है?
I) Two persons sit between Hema and Swetha

II) Vignesh sits opposite to Sruthi

III) Balaji sits immediate right of Rishi

a) Only (I)

b) Only (II) and (III)

c) Only (I) and (II)

d) Only (III)

e) All are correct

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Seven friends viz. G, J, U, L, E, N and S lives on 
seven different floors of the same building. They 
are the only persons living on that building. The 
building has ten floors, bottom most floor is 
numbered as first, the floor above is second, 
and so on till the topmost floor which is 
numbered as tenth. Each of them like a different 
animal viz. Sparrow, Pigeon, Squirrel, Deer, 
Mouse, Rabbit and Camel but not necessarily in 
the same order. N who likes Sparrow lives 
neither on fifth nor on ninth floor. S likes Camel 
and lives on an odd numbered floor. J does not 
live on topmost floor. U lives on seventh floor 
and likes neither Rabbit nor Sparrow. There are 
only four floors below the floor on which the one 
who likes squirrel lives. Only four persons lives 
below L who likes deer. The one who likes Mouse 
has more than eight floors below him. All the 
three floors below G’s floor are empty. The one 
who likes rabbit lives on an even numbered 
floor. N lives immediately above J’s floor.

साि लमत्र अथााि। G, J, U, L, E, N और S एक ही इमारि के
साि अिग-अिग मंक्ििों पर रहिे हैं। िे उस इमारि पर
रहने िािे एकमात्र व्यक्ति हैं। इमारि में दस मंक्िि हैं, 
सबसे ननचिी मंक्िि की संख्या पहिी है, ऊपर की मंक्िि
दसूरी है, और इसी िरह सबसे ऊपरी मंक्िि की संख्या
दसिीं है। उनमें से प्रत्येक को एक अिग िानिर पसंद है
अथााि। गौरैया, कबूिर, धगिहरी, दहरण, चूहा, खरगोश
और ऊंट िेककन िरूरी नहीं इसी क्रम में हो। N क्िसे गौरैया
पसंद है िह न िो पााँचिीं और न ही नौिीं मंक्िि पर रहिा
है। S को ऊंट पसंद है और िह वििम संख्या िािी मंक्िि पर
रहिा है। J सबसे ऊपरी मंक्िि पर नहीं रहिा है। U साििीं
मंक्िि पर रहिा है और न िो खरगोशऔर न ही गौरैया
पसंद करिा है। क्िस िि पर धगिहरी पसंद है, उसके नीचे
केिि चार मंक्िि हैं। L के नीचे केिि चार व्यक्ति रहिे हैं
िो दहरण पसंद करिे हैं। िह व्यक्ति क्िसे माउस पसंद है
उसके नीचे आठ से अधिक मंक्िि हैं। G के िि के नीचे की
सभी िीन मंक्ििें खािी हैं। िह व्यक्ति क्िसे खरगोश पसंद
है िह एक सम संख्या िािी मंक्िि पर रहिा है। N, J के िि
के ठीक ऊपर रहिा है।
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Seven friends viz. G, J, U, L, E, N and S lives on seven 
different floors of the same building. They are the 
only persons living on that building. The building has 
ten floors, bottom most floor is numbered as first, 
the floor above is second, and so on till the topmost 
floor which is numbered as tenth. Each of them like a 
different animal viz. Sparrow, Pigeon, Squirrel, Deer, 
Mouse, Rabbit and Camel but not necessarily in the 
same order. N who likes Sparrow lives neither on fifth 
nor on ninth floor. S likes Camel and lives on an odd 
numbered floor. J does not live on topmost floor. U 
lives on seventh floor and likes neither Rabbit nor 
Sparrow. There are only four floors below the floor on 
which the one who likes squirrel lives. Only four 
persons lives below L who likes deer. The one who 
likes Mouse has more than eight floors below him. 
All the three floors below G’s floor are empty. The 
one who likes rabbit lives on an even numbered 
floor. N lives immediately above J’s floor.
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How many persons are living below S?
(a) One
(b) Three
(c) More than five
(d) Four
(e) None of these

J likes which of the following animals?
(a) Squirrel
(b) Deer
(c) Sparrow
(d) Pigeon
(e) None of these

Which of the following animals does G like?
(a) Pigeon
(b) Squirrel
(c) Rabbit
(d) Mouse
(e) None of these
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How many floors are there below the floor on which N 
lives?
(a) One
(b) Two
(c) Three
(d) More than four
(e) None of these

Which of the following combinations of person-
floor-animal is correct?
(a) L – Eighth – Pigeon
(b) S – Seventh – Camel
(c) U – Seventh – Squirrel
(d) E – Tenth – Mouse
(e) None of these
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crown queen story palace’ is written as ‘op lp we jk’,
‘rose queen story flower’ is written as ‘ir lp fu op’.
‘palace king rose water’ is written as ‘ty ir gb jk’
‘story land king dream’ is written as ‘ty xz lo lp’

Which of the following words can be coded as ‘op fu gb ta’?
(a) crown flower rose water
(b) land water flower princess
(c) flower dream story king
(d) queen flower water lily
(e) palace water land rose

Which of the following is the code for ‘palace’?
(a) lo
(b) jk
(c) ty
(d) we
(e) fu
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How is ‘flower story crown’ be written in 
this code?
(a) ty ir fu
(b) lp op we
(c) fu lp we
(d) we fu jk
(e) None of these

Which of the following code represent for ‘dream’?
(a) xz
(b) lr
(c) fu
(d) Either (a) or (e)
(e) lo

What does “ty” represent in the code?
(a) King
(b) Crown
(c) Story
(d) flower
(e) water

crown queen story palace’ is written as ‘op lp we jk’,
‘rose queen story flower’ is written as ‘ir lp fu op’.
‘palace king rose water’ is written as ‘ty ir gb jk’
‘story land king dream’ is written as ‘ty xz lo lp’
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An uncertain number of persons sit in a linear row. 
All of them face north. Four persons sit between P 
and Q. R sits fourth to the right of Q. M sits third to the 
right of P. O sits fifth to the right of G. O sits 
immediate left of S who sits third from the one of the 
extreme ends of row. Q sits sixth to the right of T who 
is not immediate neighbor of P. As many persons sits 
between R and G as many between G and M. T sits 
second to the left of J who sits third from extreme 
end. S sits fourth to the right of M.

अननक्श्चि संख्या में व्यक्ति एक रैखखक पंक्ति में बैठिे हैं। उन सभी का
मुख उत्तर की ओर है। P और Q के बीच चार व्यक्ति बैठे हैं। R, Q के दायें से
चौथे स्थान पर बैठा है। M, P के दायें से िीसरे स्थान पर बैठा है। O, G के
दायें से पांचिें स्थान पर बैठा है। O, S के ठीक बायें बैठा है, िो ककसी एक
चरम सीमा से िीसरे स्थान पर बैठा है। पंक्ति के छोर। Q, T के दायें से छठे
स्थान पर बैठा है, िो P का ननकटिम पडोसी नहीं है। R और G के बीच
उिने ही व्यक्ति बैठे हैं क्ििने G और M के बीच बैठे हैं। T, J के बाएं से दसूरे
स्थान पर बैठा है, िो अनंिम छोर से िीसरे स्थान पर बैठा है। S, M के दायें
से चौथे स्थान पर बैठा है।

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

How many persons sit in the row?
(a) 16
(b) 18
(c) 19
(d) 20
(e) None of these

How many persons sit between P and G?
(a) None
(b) Two
(c) Three
(d) More than three
(e) None of these

Who among the following person sits seventh 
to the left of S?
(a) R
(b) P
(c) Q
(d) M
(e) None of these
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If N sits immediate right of M then how many 
persons sits between N and S?
(a) Seven
(b) Two
(c) Three
(d) Four
(e) None of these

Who among the following person sits sixth to the 
right of Q?
(a) G
(b) O
(c) S
(d) M
(e) None of these
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There are eight people in the family. R is the daughter of P who is the Husband of Q. V is the daughter of

T. T is the brother in-law of S who is the only son of Q. W is the son of U. Q has only two children. U has

no siblings. There are three generation and three married couples in a family. पररिार में आठ िोग हैं। R,

P की पुत्री है िो Q का पनि है। V, T की पुत्री है। T, S का सािा है िो Q का इकिौिा पुत्र है। W, U का पुत्र है।
Q के केिि दो बच्चे हैं। U का कोई भाई-बहन नहीं है. एक पररिार में िीन पीढी और िीन वििादहि िोडे हैं।

How many male members are there in the family?
a) One

b) Two

c) Three

d) Four

e) None of these

If W is married Y, then how S is related to Y?
a) Daughter in law

b) Mother- in law

c) Father in law

d) Sister in law

e) Niece
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